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This

Question Booklet contains 100 questions with |1, wwgﬁawﬁ 100 T & | T Y o T 1 379 87T |
weightage of 1 mark for each question. Y .
2. Before attempting the question paper, kindly check that 2. W'Wﬁgaw{ﬁﬁmmmaﬁﬁwwﬁ%24w
this booklet has total 24 pages and OMR Answer Sheet is 2 31T 3.0, AN, I U5k ol o Siaat & | et sk geire o I
in triplicate. At the start of the examination within the first . i R . &R .
five minutes, candidates are advised to ensure that all STeft @ o e st &1 < o & 3 o ]%EI
pages of Question Booklet and OMR Answer Sheet are AT mgﬁ?@‘r R SﬁEHSTT( WW%WW =D &
properly printed and Question Booklet is not damaged in U B S T qRaenT i e it T et e w2 I
any manner. ° © o =
3. The OMR Answer Sheet consists of three copies, the |[3. <) THAR WW@WW%, H\Fﬁlﬁ, SR 9‘%115[ eamﬁ
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]f)OI])o}ngO'HOt hieparatg or (}i(s)%llleige AtIl:em. DSohnot darken t{le Tt B STAT-3TAT HeAT T Fe | el qhem gurg 89 | I
ubbles in three copies o swer Sheet separ.ate y. :ﬂsrqu I T I AT g # s %F'l o e
Candidate must hand over the OMR Answer Sheet without BAERN off iy NP off
separating the three copies to the invigilator at the end of | EfeIETh BT 3T HAAT " ST | 37+ I
the examination. Invigilator will hand over the candidate’s o WWWEL{\WW I S ST A € |
copy after separating it. The candidates are allowed to take . .
away this Question Booklet with them. 4. F@TY vt R o o 1 ) <ol GG ST 3HT.TH.3T. T I
4. Please ensure that the Question Booklet Number and OMR SHH HEHT UhEH B =R | forelt oft wenr st fergimfar o s 9t
Answer Sheet Sorial No mateh wih cach othar Incaso o | s 1 e .7 e e . v o7 et |
y at Y, 1 u 1 1 y . . .
the matter to the invigilator for replacement of Question ot =TT | e g € % i fie o ge E\ﬁ\-{ﬁ W I
Booklet and OMR Answer Sheet. No claim in this regard forame =i fora sTam |
will be entertained after five minutes of start of ! I
examination. 5. ol STTavae foarT HraETITEE SO, ST O § T R |
5. All the necessary particulars on the OMR Answer Sheet 3).TH, 3T, I Y5 o FecATd shl ST AT & | I
should be filled carefully. Change of OMR Answer Sheet is ¥
not permitted. 6. 39 WA JRae SR LTI, IR T F S AT T Tl I
6. Do not forget to write your Roll Number on the top of this fora ‘ afea et
Question Booklet and OMR Answer Sheet. Do not tear or i qﬁ AR . T 1., . I gﬁq‘q
fold any page of the Question Booklet and OMR Answer A A IS FARANS | I
Sheet. o~ ¢ o o o
7. Candidate has to fill one option compulsorily out of the five 7. serff g t“a feret & QEF |~°|°hw T e § | At I
options given. If a candidate does not know the answer, el st I T uar B, 3§ uteat fased (ﬁm @) T
then he/she has to fill the fifth option (option (E)). Extra et e o firge wffos 5|T® gt
five minutes will be given to mark the fifth option, No marks E | Wﬁ K %ﬂl m%[ . fe . ! I
will be awarded against the fifth option as it indicates that forehed T W I ofe 21 fau S wifer 5o g Hohd fierar ©
the candidate has not attempted that question. Top arvreff ¥ 39 I3 &7 S A R R
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8. There shall be no negative marking for a wrong option
having been filled. In case a candidate does not wish to
attempt a question, he/she will need to fill in the fifth
option/bubble in the OMR Answer Sheet. Failure to do so
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1. Consider the following statements about|1. &N o ileh Gid & aX | fHHAfeiRad ST 9
Haryana’s folk music : formm Sifse
I.  ‘Bara Masa’ is a popular musical form that [ SR HEP U AT @ €9 2 S aRE
expresses the emotional journey of T % 3R foree AT St raTeeR A
separated lovers through the twelve months. T I P S |
II.  ‘Jhoolna’ songs are associated with . Feqr Tﬂﬁmmﬁﬂéiﬁﬁ% ﬁ;m
religious ceremonies and sung during death TR 3 S M ST & |
rituals. . BT el & @er & NF T S e
II.  ‘Phag’ is a seasonal form of music sung gifid &1 T o &9 2 31k TE gt 3R
during the Holi festival and expresses joy ST T oI AT & |
and playfulness. Wﬁﬁﬁ—ﬂ/ﬁ%ﬂ%@ 9
Which of the above statements is/are true ? (A) ¥t 1 311 (B) et 1 S
O e G e
on , 1, :
EE; Not ;:tempted (B) ST AL
i
2.  Which of the following statements are true|2, ZITISISTHTIATEY (DRIISHYA) & oy #
regarding DRIISHYA ? et oA FyT a2 2
I. Haryana launched DRIISHYA for surveying I =i ﬁaﬁ—qﬁ}gﬁm (JTTETAT) TSR
infrastructure projects. % G907 o feTt DRIISHY A &= foaT |
II. DRIISHYA was launched in 2023. I. DRIISHYA 3T 2023 ¥ &= o3 737 o7 |
III. DRIISHYA is headquartered in Gurugram. 1. DRIISHY A 3T T TRUTH H £ |
IV. DRIISHYA provides drone pilot training to IV. DRIISHYA %’P(;rrrrr I a;-[aﬁ H I TS
the youth in Haryana. Tf3TeTor YeT FET R |
Options : Tarerea
(A) LIIandIVonly (B) IIandIV only (A) FHae I, 11 3TV (B) Fa [ ATV
(C) Iand Il only (D) I and IV only (C) a1 (D) e I 3R IV
(E) Not attempted (E) IR TET T =R
e
3. Which location is renowned for hosting the Mango |3, g TIfHal § 310 Bl & ATAISH & fIT shi9-a1 T
Mela every summer ? g ?
(A) Panipat (B) Pinjore (A) THiTa (B) s
(C) Karnal (D) Faridabad (C) (D) weEE
(E) Not attempted (E) T CUMEMEY
B 2N
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Consider the following statements regarding the |4,

Panchayati Raj system in Haryana :

L. The Zila Parishad is responsible for
advising, supervising and coordinating the
functions of the Panchayat Samitis within a
district.

II. The Panchayat Samiti is the highest
institution of the Panchayati Raj system at
the district level.

III. Gram Panchayats directly supervise the
activities of the Zila Parishad.

Which of the above statements is/are true ?

(A) I and IIT
(B) TandIII

(C) Only I

(D) Only I1

(E) Not attempted

Which of the following is a major Agro-Forestry|S5.

species supporting wood-based industries in

Haryana ?

(A) Poplar

(B) Deodar EI%%
(C) Banyan tree (=l
(D) Sal

(E) Not attempted

What is the name of the radio programme launched | 6.

by Department of Women and Child Development
(DWCD), Haryana under Beti Bachao Beti Padhao
scheme ?

(A) Mabhri Desh ki Beti

(B) Mahri Laado

(C) Mahri Laado ki Awaaz

(D) Mabhri Beti Bachao

(E) Not attempted

GET IT ON
Google Play

BT § et U ogee & geiy § feferfiaa

FeT O ferem T

1. TSt uftae e fSiet 3 ofiaw v et
TS o, 3ok TAAI0T 3T HRAT o THST h
fore Rmer 2 |

1. d=mad afifa e T aX demdt U7 SeeT
T Hellea GEATR |

1. T v Tt uftse st nifaferfem st g
ot et € |

I | | HH-A1/E FHH T /2 2

(A) L, 11 3R III

(B) 13RI

(C) FaA1

(D) Faet 11

(E) 3T & 1 =med

FrforRaa o @ forar gfmon & erendi-smearia sem
1 GAAT S el S Y AR TS o w9
ST ST R 2

(A) forr (dTwer)

(B) dER

(C) 5 T&F ()

(D) @

(E) AT & 1 =med

ST SIS 9 UG IS 3 Jerid AigedT G o1l
foeprar foramr (SreseyEe), sfemm g E fR
T AT HrishA o T FTR 2

(A) AT 33T i 9

(B) =Tl @Ter

©) qTedl ATel i e ?@%g

(D) ATEd S ST Bl

(E) TR g1 =med

/\3/\
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Which of the following statements is incorrect ? |7,

(A) Windows supports a Graphical User Interface
(GUD).

Windows allows file compression.

Windows 10 Pro is a single-user operating
system.

Windows 10 Pro supports remote access.

(B)
©

(D)

(E) Not attempted

E'%EEE
x
[

What does the BCC field in an email stand for ? |§,

(A) Blind Carbon Copy

(B) Broadcast Carbon Copy

(C) Background Central Copy

(D) Backup Communication Copy
(E) Not attempted

Match Backup media (Column A) with its|9,

Description (Column B) :
Column A Column B
(Backup (Description)
media)

a. Tape Drive i. Cheap but slower, optical

media

b. SSD Backup ii. Fast random access,

Disk durable

c¢. Cloud iii. Remote, internet-based
Backup storage

d. DVD iv. Sequential-access, low
Archive cost per TB

Codes :

(A) a-iv, b-iii, c-ii, d-i
(B) a-ii, b-iv, c-i, d-iii
(C) a-iii, b-i, c-iv, d-ii
(D) a-iv, b-ii, c-iii, d-i
(E) Not attempted

GET IT ON
Google Play

frafafga d g -aT FT TeAaT 2 2

(A) faSst mitherer IR et (GUI) 1 @/
FATL |

(B) fiSrst wiget defte ol S1Afd aar 2 |

(C) T 10 1 e feTer-aom Htoifen fawen 2

(D) TerErst 10 9T RATE o (Gt ATT) sh wael
FATR |

(B) I 1 9med

A H BCC Wieg s T 7A 7 2
(A) STITEE HTa It

(B) SITSThIEE el shidY

(C) SFUTSE Toed HhidT

(D) ST FRIHT il
(E) 3T o1 9med

AT ST (FTH A) i 360 foaoT (Fie™ B) &
Torem St -

HH A HeTH B 2
(AT (feren)
Tifeam)

a. 39 g1gd i, |&aT AfeRa e, Siftesher

Hifeam

b. SSD ST ii. oI ATgFegeh AT, foeres
fe=n

c. FATIE iii. foe, $etae-rmeni Wi
T

d. et iv. SAgehivsh-Srfu, ufd dsft =6n
CIEIEC) NI

e :

(A) a-iv, b-iii, c-ii, d-i
(B) a-ii, b-iv, c-i, d-ii
(C) a-iii, b-i, c-iv, d-ii
(D) a-iv, b-ii, c-iii, d-i
(E) 3 &l a1 =Imed

/\4/\
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11.

12.

13.

e

Identify the incorrect pair :

(A) OPEC - Climate agreement

(B) BRICS — Developing economies

(C) NAFTA — North American Free Trade Area
(D) GATT - Predecessor of WTO

(E) Not attempted

Which pollutants are the primary focus under
NCAP ?

(A) PM2.5 and PM10

(B) Lead and Mercury

(C) Sulphur Dioxide and Ozone

(D) Nitrogen Dioxide and Carbon Monoxide

(E) Not attempted

0L
o
Who chairs the Goods and Services Tax (GST)
Council in India ?
(A) Finance Secretary
(B) RBI Governor
(C) Union Finance Minister

(D) Prime Minister
(E) Not attempted

Which of the following is not an objective of the

South Asian Association for Regional Cooperation

(SAARC)?

(A) To accelerate economic growth,
progress and cultural development in the
region

social

(B) To strengthen cooperation among themselves
in international forums on matters of common
interest

(C) To promote the welfare of the people of South
Asia and to improve their quality of life

(D) To establish a unified political system across
member states

(E) Not attempted

10.

11.

12.

13.

GET IT ON
Google Play

AT I shl GE=TH hITST :

(A) 3T — ST TS

(B) forrer — forpmarsfict srefegawemd

(C) TR — I ST T AR &

(D) 2 (GATT) — SsLI31 (WTO) ol Jeiardt
(E) 3T 1 =med

THHTT (NCAP) o 3fefiid hl=-8 Sgehi Tt qrerfiren
e fear T R 2
(A) drum2.5 3R dg]0
(B) ©i@r 3R Umr
(C) HTH STEHATHITES 3TN A=
(D) TTEEISH SEHATFETEE 3R Fe AHISTFTS
(E) 3T & 1 =med _
o
(OF: 5

I o T BT o (STTuEeh) uie o srererr
FITHATR ?

(A) oot

(B) STRATS Mo

(C) e fore waft

(D) S&m= it

(E) AT o1 =med

frfaRea & & -1 gfaor whmg et geam

TS (SAARC) FI SR TET 2 ?

(A) & T orffe fawm, amfoes wfa e
HiGhfaeh forehma & qsft T

(B) Sfauisdia Hai ® |ren f&d o Ael W e
HEANT ol AT AT

(C) <FeAoT TfSTT 3 AT o ShedToT ol SIGTaT 3T 3T
3Tk e oAl TOTET § G HEAT

(D) TEHT 33N | Thisha UsHITTh daee TImfud
FT

(E) 3 &l a1 =Imed

/\5/\
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15.

16.

17.

18.

19.

e

Which of the following pairs of scientific
inventions and scientists is incorrect ?

(A) X-rays — Roentgen

(B) Radio — Rutherford

(C) Penicillin — Fleming

(D) Periodic Table — Mendeleev

(E) Not attempted

Which of these gives an incorrect relation between
HCF and LCM ?

(A) HCF (a, b) X LCM (a, b)=a/b

(B) aand b are both divisble by HCF (a, b)
(C) HCF £ min (a, b)

(D) LCM = max (a, b)

(E) Not attempted

If 3A =2B =4C, then whatis A:B:C ?
(A) 4:6:5 B) 4:6:3
(C) 2:3:4 (D) 2:3:5
(E) Not attempted
Fill in the blank :

2 2
Ifa +b =29andab=10,thena+b=
(A) £7 B) 9
©) 14 (D) +14

(E) Not attempted

A scored 20% more than B. B scored 25% less than
C. If C scored 80, what is A’s score ?
(A) 72 (B) 80 (C) 84
(E) Not attempted
ElE
e

Which of the following ‘data set-to-average’ pairs
is incorrectly matched ?
(A) [2,4,6,8]—5
©) [4,6,8]—6

(E) Not attempted

(D) 76

B) [1,3,5,71—4
D) [3,5,7,91 -7

GET IT ON
Google Play

14. T=fcfad & @ a3nfes snfoserd 3t Sgnfent

15.

16.

17.

18.

19.

-1 I 7T 8 ?

(A) T - s

(B) fear— @i

(C) ufafafer — wift
(D) TTad Gl — Heefta
(E) 30T 1 =med

90 ¥ S®H-AT HCF 31X LCM & s o7 Gaiel aT
22

(A) HCF (a, b) X LCM (a, b)=a/b

(B) a3 b 3T HCF (a, b) A favrsa &

(C) HCF < min (a, b)

(D) LCM = max (a, b)

(E) 3T o1 9med

G 3A=2B=4CR, A :B: CHTR?

(A) 4:6:5 (B) 4:6:3

C) 2:3:4 (D) 2:3:5

(B) S & <1 =med _—
i

ﬁ?EWHWF{'Q:

AfEa’ +b° =29 FMab=10,da+ b=

(A) +7 B) 9

(€) 14 (D) +14

(B) ST &1 =med

AT BH 20% 3fereh 37 I fRT | B C & 25% 9
37es W fohT | afe C J 80 37 ITH fhw, 97 A & 37
R g2

(A) 72 (B) 80
(E) ST 1 =med

frefafad & @ FR-8 T Fed-fwa Iw H
e T 2 2

(A) [2,4,6,8] > 5
(C) [4,6,8] 6
(E) SRl <7 =med

(C)84 (D) 76

®B) [1,3,5,71—4
D) [3,5,7,91 -7

/\6/\
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21.

22,

e

Which ocean current is warm and helps keep
Western Europe’s climate moderate ?

(A) Canary

(B) Gulf Stream

(C) Humboldt

(D) Labrador

(E) Not attempted

The Sangita Ratnakara, a treatise on music, was
composed by which of the following musicians ?
(A) Amir Khusrau

(B) Tansen

(C) Sharangadev

(D) Swathi Thirunal

(E) Not attempted

Elé?i
X
=]

Match the following Articles of the Indian
Constitution in Column A with their respective
Subject Matter in Column B :

Column A Column B

(Article) (Subject Matter)

a. Article 14 1. Protection of life and

personal liberty

b. Article 19 ii. Equality before law

c. Article21 iii. Rightto freedom of speech
and expression

d. Article32 iv. Right to constitutional
remedies

Codes :

(A) a-iii, b-ii, c-i, d-iv

(B) a-ii, b-iii, c-i, d-iv
©
(D)

(E)

a-i, b-iv, c-ii, d-iii
a-ii, b-i, c-iii, d-iv
Not attempted

20.

21.

22,

GET IT ON
Google Play

-4l AEEIHE W T 2 R afveH o A
STCTET ! HEAW STC T H HEg hidi @ 2

(A) &

(B) T T

(C) THlee

(D) TSTER

(E) 30T 1 =med

i ORIy, Hii TeTend sht ST e friad 3 & forer
TrffaeR = it oft 2

(A) ST g

(B) amaT

(C) IR

(D) e e

(E) 3T o1 9med

Fq A H feu U vyndiy @i & etataa
FTodal ol W B H U 7 379 wsiferd forarareq
g fuem hifs

FieH A FIH B
(7= (far-a%g)
a. ITo98 14 i IO IR e wAar
=T HTE0T
b. FT=E 19 ii. T (faifer) o wwer g
c. TeE21 iii. AT TS HARATEH shl T
T ATTHRT
d. eI 32 iv. HIAHTH TR Al AIHR
<< :

(A) a-iii, b-ii, c-i, d-iv
(B) a-ii, b-iii, c-i, d-iv
(C) a-i, b-iv, c-ii, d-iii
(D) a-ii, b-i, c-iii, d-iv
(B) IS o1 9med

/\7/\
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24.

25.

26.

e

What is the primary objective of the “Manohar
Jyoti” scheme launched by HAREDA (Haryana
Renewable Energy Development Agency) ?

(A) To provide solar water pumps to farmers for
irrigation purposes

electric  vehicles

(B)

To promote
subsidies

through
(C) To supply LED-based solar home lighting
systems to households

(D) To install solar power plants on government
buildings

(E) Not attempted

Which ancient river, often mentioned in Vedic
texts, is believed to have flowed through
present-day Haryana and its revival is a current
project ?

(A) Vipasha

(B) Shutudri

(C) Asikni

(D) Saraswati

(E) Not attempted

Which of the following is the State Tree of|25.
Haryana ?

(A) Banyan

B) Neem Bl

(B) %%ﬁ

(C) Peepal

(D) Mango

(E) Not attempted

What is the name of the Haryana Government 26.

scheme that compensates farmers when market
prices fall below MSP ?

(A) PM-KISAN Samman Nidhi
(B) Meri Fasal Mera Byora
(C) Kirishi Sinchai Yojana

(D) Bhavantar Bharpai Yojana
(E) Not attempted

23.

24,

GET IT ON
Google Play

T SRV 317y it fererrer worelt) ETT 31 o1 T8
“TTEL ST TISTT o1 I fieh SeT AT 2

(A) To=ms o for Feramt ot € STet Iu Suetsdr ST
(B) WisHE! & HTEAH ¥ SiTorgeh ATeA i seTal oAl

(C) =i TASET-SATeITR HIX B SehTeT el hl
AT BT

(D) TR YT O HR Sl T ST T
(E) 3T o1 9med

3fees Tt # 31T Aftfa wia-Et =T & adae
RO & SRt Tt off T T TEEI T ada
TRESAT & 2

(A) femmam

(B) wIgslt

(C) fert

(D) Tt

(E) 30T o1 amed

frfefiad & & -1 g #1 TSI g © 2
(A) FET& (STT3)

(B) =

(C) diue

(D) ™

(E) 3T o1 9med

IO TR T 36 ATSTT 6T 3T AT & i SIS e
wuEdt ¥ A i ® RREE s g dt
29

(A) dren-feram grm f3fer
(B) " wOc AU ST

(C) HiY f=rg s

(D) HTEIia SRUTS ST
(E) 3 &l a1 =Imed

G

/\8/\
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27. Match the landmarks in Column A with their

correct locations in Column B :

Column A Column B
(Landmark) (Location)
a. Brahma Sarovar i Faridabad
b. Surajkund ii.  Bhiwani
c. Tilyar Lake iii.  Kurukshetra

d. Star Monument iv.  Rohtak
Codes :

(A) a-iii, b-iv, c-i, d-ii

(B) a-ii, b-i, c-iv, d-iii

(C) a-iii, b-i, c-iv, d-ii g%%

(D) a-i, b-iv, c-ii, d-iii

(E) Not attempted

28. Which of the following is the correct group of
physiographic divisions of the Ghaggar-Yamuna
Plain in Haryana ?

(A) Malwa, Khadar, Doab and Rohilkhand
(B) Bangar, Khadar, Naili and Bet

(C) Bhabar, Terai, Khadar and Bundelkhand
(D) Bhakra, Doab, Terai and Chaur

(E) Not attempted

29. Which of the following is the highest peak in
Haryana ?
(A) Karoh Peak
(B) Dhosi Hill
(C) Riwasa Hill
(D) Khanak Hill
(E) Not attempted

GET IT ON
Google Play

27. w9 A § feu e el 1 hiem B # fiu e 39

Tl I ¥ firer ifsre -
HITH A HIcTH B
(FITTIg) (¥4IT)

a. AR | ISR

b. @he i, e

c. foeamefie iii. Fead

d RRTERE iv. Ugdsh

%<

(A) a-iii, b-iv, c-i, d-ii

(B) a-ii, b-i, c-iv, d-iii

(C) a-iii, b-i, c-iv, d-ii

(D) a-i, b-iv, c-ii, d-iii

(E) 3T & 1 =med

28.  fmfcrfiad # & hH-81 SR # ST He
3T forTem ot o Tg © 2
(A) T, G, Tr3TTe 3R UTeeras
(B) TR, @WeT, Ieit 3R 5
(C) TS, TG, WTeX 3K Jocies
(D) WRGET, AT, a8 3 AN
(E) 3T o1 9med

El%?‘i
X
[l

29. fr=fafaa & @ sfamon 6 =@ S =i sa-H
29
(A) HE =
(B) eeft werel
(ORCICIRRE]
(D) T RIS
(E) 3 &l a1 =Imed
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30.

31.

32.

33.

e

Three tasks must be completed, each taking one
hour :

Task 1 : Needs Anita and Babita

Task 2 : Needs Babita and Cheenu

Task 3 : Needs Anita and Cheenu

Only one task can be worked on at a time. No
person can participate in two tasks simultaneously.
What is the minimum total time to complete all
three tasks ?

(A) 2 hours

(C) 3-5hours

(E) Not attempted

(B) 3 hours
(D) 25 hours

2
X
Complete the series : (=l 31.
4,7,13,25,49,?
(A) 91 (B) 101 (C) 97 (D) 85
(E) Not attempted
Select a figure from the Answer Figures which will | 32,
continue the same series as established by the five
Question Figures.
Question Figures :
S ||Ww
0 || A4 e
H @ 6 @ (5)
Answer Figures :
® [ ® [
© | ® |
(E) Not attempted
Which one set of letters when sequentially placed | 33,
at the gaps in the given letter series shall complete

it ?

gfe ig eii fei gf ii

(A) ifgie (B) ifige
(C) eifgi (D) figie

(E) Not attempted

GET IT ON
Google Play

30. < Rl 9L A B, S § s | T HeT T

M | : AT 3R S shi SRl &

& 2 i 7 = it stTewrRaT 8

M 3 ; AT ST At TR &

ek GHT § helel Th &1 13 (9T SIT @k & | s oY
STk T BT & AT § AT 8 of HehdT |

A Tt g R 3 T = et T R R 2

(A) 2% (B) 3%
(C) 3582 (D) 2-5°%2
(E) 3T el &1 =med
4,7,13,25,49,9
(A) 91  (B)101 (C)97 (D) 85
(E) 3T el & =med
I SATHIGAT § T T SR BT T hIFST ST 9
T STl ST ST T ohi ST Tt |
9 HATRfET :
S ||Ww

0 || 4 e

n @ 3 @ (5
IR ST :
(A) \(@ (B) \0%
© | g D) | k&
(E) 3T el &1 =med
&I T HI-HT T a1 TS &R Haa § {7 Sl
TSk T H T ST 0TI G R 2
gfe ig eii fei gf ii -
(A) ifgie (B) ifige “m%i?
(C) eifgi (D) figie
(E) ST ¢ =med
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34.

35.

36.

37.

e

What was the original name of the fort built by |34,
George Thomas which was later named
Jahazgarh ?

(A) Thomasgarh (B) Bahadurgarh

(C) Georgegarh (D) Jhajjargarh

(E) Not attempted

Which award is annually conferred by the Haryana |35,

Kala Parishad for contributions to Haryanvi
literature ?

(A) Vyasa Samman

(B) Saraswati Samman

(C) Pandit Lakhmi Chand Award

(D) Haryana Gaurav Samman

(E) Not attempted
Bl
G

Arrange the following districts in descending order
of their Census 2011 population :
Hisar, Yamunanagar, Faridabad, Panipat

(A) Faridabad > Panipat > Hisar > Yamunanagar
(B) Faridabad > Hisar > Panipat > Yamunanagar
(C) Faridabad > Hisar > Yamunanagar > Panipat
(D) Hisar > Faridabad > Panipat > Yamunanagar

(E) Not attempted

Which of the statements about
traditional Haryanvi literary and cultural forms is
incorrect ?

(A)

following

Jhumar Dance is performed by men in a
circular formation.

Ratvai is a dance associated with the Mewati
tribe.

Sang (Swang) is a folk theatre combining
music and drama.

(B)
©
(D) Ragini is a popular form of narrative poetry
in Haryanvi.

(E) Not attempted

36.

37.

GET IT ON
Google Play

Sitst e grT i feet <61 He e = o o e
o STeTSiTe 1 fear w2

(A) o (B) RIGETG
(C) SsiTg (D) TG
(B) SO <1 =med

SR wer it g sfEmrE T #§ JeE &
T fcrere I8 TR e TR St & 2

(A) =8 T

(B) qr&dt @

(C) dfsd Tt =3 TR

(D) i M e

(E) 3T & 1 =med

FrfeTRad St bt 3eh! SITOMT 2011 6T SE@AT
o STl A B T e HIf :

(A) FUETEE > I > fF8TR > AR

(B) H{EETE > el > aHivd > FAWTR

(C) werEE > R > AR > grHiTd

(D) TEER > HIETeg > aHid > TR

(E) 3T & o1 =med

-

IRYfeR SREmTEt Arfefcae 3T diwhfae €91 o IR

7 ffetfad & & HH9-91 F9 Toaq € 2

(A) FHT T FoNT GRT ARt formmer  foparm simar
2

(B) Tq@s HaTdT ST & ST T TeA ¢ |

(C) | (L) Uk e G & o gfta ik
T2 T TASH BT R |

(D) TR gfmoTet & seTede: e T Teh AAlhIT
®TIT|

(E) 3 &l a1 =Imed
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38.

39.

40.

41.

42.

43.

e

Which of the following word best completes the
relationship given below ?

Cell : Organism : : Brick : ?

(A) Building

(B) Mason

(C©) wall

(D) Cement

(E) Not attempted

Find the odd one out :
(A) 187

(B) 169

(C) 143

(D) 91

(E) Not attempted

Kajal left home for a hospital. She travelled 5 km
towards East, then turned towards South-East to
travel another 10 km, then again she turned
towards North-East to travel 10 km and finally, she
reached the hospital. In which direction is the
hospital with respect to her home ?
(A) South (B) North (C) East
(E) Not attempted

(D) West

After interchanging + & % and 12 &18, which of |41,

the following equations will hold true ?

(A) (9+12)x18=60

(B) (18+6)x12=90

© (12+18)x12="72 m

(D) (12+6) x 18=36 E%ﬁ

(E) Not attempted

What is the value of the following expression ? 42,
2

(32x15)+(672+08)—(2:1)

(A) 1321 (B) 48

(©) 1099 (D) 879

(E) Not attempted

Find the odd one out : 43.

(A) Violin (B) Flute
(E) Not attempted

(C) Guitar (D) Sitar

38.

39.

40.

GET IT ON
Google Play

fFrefafaa § 9 wH-a1 yee A fou T geiy i g
3= & & AT & 2

IR : S :é?.’:?

(A) 3R

(B) fasht

(C) d&r

(D) Hie

(E) 30T 1 =med

[ERERCIELS

(A) 187

(B) 169

(C) 143

(D) 91

(E) 3T o1 9med

FHIEA B A % A FHepel! | 98 g6 st AR
5 Toprt =rett, Toht afequr-gal ol AR et 10 forrT =ret,
T a8 ST ol ST g 10 Forrlt =reft A oiq |
T SFEIATA U 7T | IHeh W o TIUE SIS (el
famazg?

(A) 3T (B)IW (O (D) ulEm
(E) 3T &A1 =med

+ & x qAT 12 & 18 Tl AT9E § St W, Fmfetfad
H & HI-|1 GHIRT g BT 2

(A) (9+12)% 18=60

(B) (18+6)x12=90 E%%
(C) (12+18)x12=72

(D) (12+6)x 18=36

(B) AL A1 Am8d
freaferfaa sister A TR 2

(32 % 1:5) + (672 + 0-8) — (2-1)2

(A) 1321 (B) 48

(C) 1099 (D) 879

(E) 3l <A1 =med

formr gf -

(A) FEfaT (B) aigd (C) frer (D) faw
(B) SO &1 =med
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44. What is the primary objective of the e-Adhigam |44,

initiative launched by the Haryana Government ?
(A) To distribute tablets to students in grades 10
to 12 for digital learning

(B) To offer scholarships for higher education

abroad

(C) To provide free internet access in rural areas
(D) To establish new government schools in
urban areas

(E) Not attempted

45. Consider the following statements about the|45,

Vardhana Dynasty :

I.  Their initial capital, Sthanveshvara, was
located in present-day Haryana.

II. King Harsha later relocated the dynasty’s
capital to Kanyakubja, a city in modern Uttar
Pradesh.

III. The final capital of the dynasty was also

known by its ancient name Thanesar.
Which of the above statements is/are true ?

(A) I, and IIT
(B) I and III only
(C) Ionly

(D) IandII only
(E) Not attempted

E!%HEi
X
[

46. What was Firoz Shah Tughlaq’s contribution to|46.

Haryana’s irrigation ?

(A) Dam on Ghaggar River

(B) Lakes construction in Rohtak
(C) Yamuna Canal

(D) Water tax removal

(E) Not attempted

GET IT ON
Google Play

ST TR S & T3 -3 T8 A

iR LT TR 2

A o femF T wam 107 12 T F
ferenfofan =t Seeie farafa s

(B) foer % 3==1 feren o forw sm=afd y&m &

(C) rfior &t 3 - 3[eeh ST Glor Uty U

(D) el &I H A HThRT Thel T AT

(E) 30T 1 =med

FIT TSET & 9N ¥ fFefafad ot w e

Frfore :

. 3eh! ITTer ToTeTY, TMaar S|t g
T fera oft |

I TSI &Y A 18 § TSt hl Tt STy
I JGRT o U RMET HIIHest H TAMIART T
feam|

1. TSEsT 6t Afom Tsrert s 3ok =i 9m
TG T ot ST ST o |

ST § & HH-A1/A FH TA /2 2

(A) L I SR III

(B) shat I1 3111

(C) FaA1

(D) Faet [ 311

(E) 3T o1 9med

Em
2
i o6 =g H RS T8 qTetes 1 T ANTE
o 2
(A) =R & STy
(B) Ugde | il ot fwfor
(C) FHATR
(D) ST T &HT
(E) 3 &l a1 =Imed
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47.

48.

49.

50.

51.

= |V

A manufacturer sells an item to a shopkeeper at a
profit of 25% on his (the manufacturer’s) cost
price. The shopkeeper then sells the same item to a
customer for ¥ 500, making a profit of 20% on the
selling price. What was the manufacturer’s original
cost price for the item ?

(A) 320 (B) 400

(©) T300 (D) T240

(E) Not attempted

A trader offers two successive discounts of 20%
and x on an item marked at ¥ 2,000. If final selling
price is ¥ 1,280, find x.

(A) 20% (B) 33-33%

(©) 25% (D) 10%

(E) Not attempted

A invests ¥ 50,000 for 8 months, while B invests
¥ 80,000 for 6 months in a venture. What should be
the profit sharing ratio of A: B ?

(A) 8:5 (B)5:8 (©O)5:6 (D)1:1
(E) Not attempted

A machine produces 1 unit every 2-5 minutes. If its
efficiency drops by 10% after 2 hours of
continuous operation, how many units will it
produce in a 5-hour shift ?
(A) 108 (B) 130
(C) 110-8 (D) 112-8
(E) Not attempted

0L

e

A conical tent of radius 7 m and height 24 m is
being made. If cloth costs T 10 per square metre,
then what is the total cost to cover it from the
outside ? (Use 1t = 22/7)

(A) T4,800 (B) ¥5,750

(C) 6,000 (D) ¥5,500

(E) Not attempted

47.

48.

49.

50.

51.

GET IT ON
Google Play

U THIdT, U gHMEN i U g 38 (Rt =)
AT HeT T 25% o T 0 s=ral € | T ghrar
It ] I Tk UTeh 1 T 500 H sr=ra &, foad 39
Torsher T3 TR 20% 1 AT 81T 8 | 3] o forg fmfar

T T AT T T o 2
(A) %320 (B) %400
(C) T300 (D) %240
(B) S &1 =med

EEE
e
Teh AT % 2,000 7 ShT T 3R T 20% 3T x

a1 hidsh P T&M Rl € | Al Afaw foskar qear
1,280 &, @1 x J1q AT |

(A) 20% (B) 33-33%
(C) 25% (D) 10%
(E) SRl 37 =ed

A foreft Sem & 8 w3 fotw = 50,000 fraer swtar 2,
Sefh B, 6 WEH @& foTT ¥ 80,000 fasr =htar © |
A : B T AT FITSI ST T ST =TT, 2

A) 8:5 (B)S5:8 (0O)5:6 (D)1:1
(E) 3l a1 =med

T R I 2-5 e # 1 gHe 1 Icared !
& | afe 2 = % AT HTe 918 SEEhT 3&T 10%
M B ST 8, A1 98 5 = i R # fopa Ifie 1
IeqTEH HT 2

(A) 108 (B) 130
(C) 110-8 (D) 112-8
(E) 3l <A1 =med

7 WX forean iR 24 WX A8 AT TH HTER
] ST T T © | Al g hT AR £ 10 Fhr
HE €, A1 39 9Te W B S Fel AN T 8 2
(10 = 22/7 1 3T HIfw)

(A) 4,800 (B) 5,750
(C) 6,000 (D) %5,500
(E) ST ¢ =med
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52.

53.

54.

55.

e

What is the name of the Haryana State Culture |52,
Policy approved by the Haryana Cabinet in
2019 ?
(A) Kalash Neeti
(B) Kala Virasat Haryana Neeti
(C) Sanskriti Vikas Haryana Neeti
(D) Kala Vikas Neeti
(E) Not attempted
Which file format is best suited to store scanned |53,
documents while preserving OCR-readable text
layers ?
(A) TIFF
(B) JPEG
o
X
(C) PDF Eed
(D) PNG
(E) Not attempted
Which of the following trees are commonly found |54,

on the slopes of Morni Hills ?

(A) Eucalyptus and Sal

(B) Deodar and Cedar

(C) Bamboo and Teak

(D) Neem, Oak, Pipal, and Jacaranda
(E) Not attempted

Which of the following is the correct order from

smallest to largest unit of digital information ?
(A) Gigabyte, Terabyte, Megabyte, Kilobyte
(B) Kilobyte, Megabyte, Gigabyte, Terabyte
(C) Kilobyte, Gigabyte, Megabyte, Terabyte
(D) Megabyte, Kilobyte, Gigabyte, Terabyte

(E) Not attempted

5S.

GET IT ON
Google Play

2019 ¥ i dhese g sigHifa giamn TSy
Tohfa ffawramwn g 2

(A) e Aifa

(B) et ferrerd efmom Hfifa

(C) wepfc foemme sfemm Hifa

(D) e faerm Hifa

(E) 30T 1 =med

OCR-9&-{19 T3 Wl ohl HLErd sd gU T fohy g
TEATSISIT ! G A o Y Hi-A1 $igd T&d
e T @ ?

(A) TIFF

(B) JPEG

(C) PDF

(D) PNG

(E) 30T & 1 =med

Fraffad & @ F9-8 Us W= JRT geTiear i
AT T ITC ST & 2

(A) FohfeTeed SR AT

(B) <IER T Tt

(C) g IR TEH

(D) w9, 371k, e, TR Sreriar

(B) TS o1 9m8d E%g

fefSTeet g sht werd BT & T gt 318 ol WEl
W FfARad § ¥ - e ?

(A) Trmese, eTse, FMeTse, fhcrarse
(B) forcitarse, #mese, Tfiase, waTse
(C) forditamse, Tfirese, wmmeTse, Suemse
(D) wTEEE, foheiase, TmeTse, SueTse
(E) 3 &l a1 =Imed
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56.

57.

58.

59.

e

Which of the following statements about internet
security and privacy is incorrect ?

(A) Public Wi-Fi networks are generally secure
for online activities.

Using a VPN can enhance security on public
Wi-Fi networks.

Clearing your browser’s cache can help free
up some disk space.

“HTTPS” indicates a secure connection for
browsers.

Not attempted

B
©
(D)
(E)

E!%E'Ei
x
=]

Which of the following statements is incorrect ?
(A) Panama Canal connects the Atlantic Ocean to
the Pacific Ocean.

Kiel Canal connects the Arctic Ocean to the

Atlantic Ocean.

(B)
(C) Bering Strait connects the Pacific Ocean to
the Arctic Ocean.

Suez Canal connects the Red Sea to the
Mediterranean Sea.

Not attempted

(D)
(E)

In early 2024, which Indian city launched the
country’s first underwater metro line ?

(A) Kochi

(B) Chennai

(C) Kolkata

(D) Mumbai

(E) Not attempted

Which institution is mainly responsible for

procuring food grains at MSP for maintaining

buffer stocks ?

(A) NABARD

(B) Ministry of Agriculture

(C) Food Corporation of India (FCI)

(D) Commission for Agricultural Costs and
Prices (CACP)

(E) Not attempted

56.

57.

58.

59.

GET IT ON
Google Play

FeTIE U SR Moar % IR fefafad § @

|1 T TAT & 2

(A) TS BT Feah SHAR W A
fciferferdi o forq geferd eid € |

(B) VPN T 31T HTeISH (o dTS- TS TeeToh T LTl
TS THATR |

(C) U FTSSK o K0 I @Ieht i & Fo fowh
T @Te! i § Heg ey dedl 2 |

(D) “HTTPS” TSR o fIT Teh GRfard sFiarer !
s aar? |

(B) I o1 9med

Freaferfaa & @ S-a1 wem Tera € 2

(A) TATHT & AT HETARR hl JSTd TSR
e 2|

(B) hieT Tt 3ATehidoh HETHNI hl 31T feh HETETR
gt 2 |

(C) dffT SoTemeAs (R2) WA HEEFH ol
JTeh e TRETR @ Sigar? |

(D) S TeX AT |FR T AL AFR § Sred & |

(E) 3T o1 9med

2024 T AT H, fopg TR 2reT § 997 3t vt
TSI Ul AT & &S 2

(A) Fifs

(B) =3

(C) hITehr 2
(D) 5
(B) IS &1 9med

TR T2k ST T o fIg TaUEdT (MSP) T @Ten=
Tiier o foTe e &9 & - weer e e 2
(A) e

(B) Y HaTeT

(C) T Wrer e (TS

(D) Y ST S Hear ST (S

(E) TR g1 =med
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60.

61.

62.

63.

e

J3+J2 J3=V2 )
7\/3_\/5 andy=7ﬁ+ﬁ,thenwhatls

2 2
the value of x +y ?

Ifx=

(A) 98
(B) 50
(©) 25
(D) 49
(E) Not attempted

A train moving at 90 km/h takes 30 seconds to|61.
cross a bridge. It takes 18 seconds to cross a pole.
Find the length of the bridge.
(A) 300m (B) 450m
(©) 350m (D) 400 m
(E) Not attempted
A tower casts a shadow 20 m long when the sun’s | 62.
angle of elevation is 30°. What is the height of the
tower ?
(A) 10m
(B) 20m
20 .
© e
20
D) Nl
(E) Not attempted
Given the table below, which department has the | 63.

lowest profit per employee ?

Department No. of  |Profit R in
Employees | Lakhs)
HR 20 40
IT 80 70
Operations 50 50
Sales 60 30
(A) IT (B) HR
(C) Operations (D) Sales

(E) Not attempted

60.

GET IT ON
Google Play

S5-2
NEENG

V342
NERVE]
X2+y2‘c|-7rtl'|'rf?=R3lT%?
(A) 98
(B) 50
(C) 25
(D) 49
(E) 3T 1 =med

I x = ARy = Al

El%?i
&
[

90 fepeft/eier <At T1f & =t STt Ueh ¢ shi Tk et IR
A H 30 Hohg TG & | TH W Bl IR FA F 3
18 TehE T & | It bl TelTs 1l SIS |

(A) 300 m (B) 450 m
(€) 350m (D) 400 m
(E) SO & &1 =med

T ZTa shi AT 20 HIS Tiell Bt & STol 2 1 31
10T 30° BT @ | TR i s fohet @ 2
(A) 10m
(B) 20 m
20

Frar < 18 arferent 1, TR fasm 7 wfq s @
IO FHA R ?

fasm am%n%ﬁaﬁ SIERGUCER: ],
g
HR 20 40
IT 80 70
BItCIE] 50 50
farsht 60 30
(A) IT (B) HR
(C) dfETe (D) fersht
(E) ST o1 =med
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64.

65.

66.

67.

68.

69.

e

Only three of the options can be formed using the
letters of the given word CELEBRATION, using
each letter only once. One option cannot be
formed. Find that word.
(A) ACTION

(C) BRACE

(E) Not attempted

(B) ELECTRIC
(D) TABLE

2
Haryana shares its boundary with how many
Indian States, excluding Delhi ?
A) 4 B) 5
<€ 7 (D) 6
(E) Not attempted

Three friends had dinner at a restaurant. When the
bill was received, Amita paid 2/3 as much as Veena
paid and Veena paid 1/2 as much as Tanya paid.
What fraction of the bill did Veena pay ?

(A) 3/11 (B) 1/3 (©) 5/11 (D) 4/11
(E) Not attempted

What is the minimum educational qualification
required for a Scheduled Caste (SC) woman
candidate contesting the post of Panch in Haryana
Panchayati Raj Institutions elections ?

(A) 10th pass (B) 12th pass

(C) S5thpass (D) 8th pass

(E) Not attempted

In a certain code, ‘BASKET’ is written as
‘5$3%#1° and ‘TRIED’ is written as ‘14%#2’.
How will ‘SKIRT’ be written in that code ?

(A) 3%#41 (B) 3%%41

(©) 3%x%41 (D) 3#4%]1

(E) Not attempted

In which year was the Circuit House converted into
the residence-cum-office of the Governor and
made Raj Bhavan Haryana ?

(A) 1956 (B) 1976 (C) 1966
(E) Not attempted

(D) 1986

64.

65.

66.

67.

68.

69.

GET IT ON
Google Play

feu U 35 CELEBRATION 3 37&T 3T ST Fleh
ol i foreheq ST ST Eehd 8, STeifeh Todieh 3T&
T YA shaeT Teh S foralT ST & | e fareheq et
ST ST Hhell | 7 368 Gl |

(A) ACTION (B) ELECTRIC
(C) BRACE (D) TABLE
(B) SO <1 =med

BT <t €T, fooedt @ Sieet, foha Yrdia T=ar
F AT AR ?

(A) 4 B) 5
© 7 (D) 6
(E) Wl &1 =med

< AT A o e H @ @ | S fore e, q
AT = <fT ok ST T 2/3 AT fobarm SR ol o
AT o A 1 1/2 I forar | o 3 foret s
fope e =gepra 2

(A) 311 (B) /3
(E) SR Tl &1 =med
BRATON Y=l Tt SRl o SAmEl § U= o 9
ToTC =1a Ao ATt STgfed St () i afear

(C) 5/11 (D) 4/11

IFHIGATE o6 ToTT =cH QA&TIOTeh FIaT T @ 2
(A) 10T qrE (B) 12t ur&
(C) 5diure (D) 8aiurd
(E) ST el T =med E%g

e [f3a #is 0, ‘BASKET &l “583%#1° 3R
‘TRIED’ &l ‘14%#2’ for@m Sar & | 5@ S &
‘SKIRT’ &l & forar smarm 2

(A) 3%#41 (B) 3%%41

(C) 3%%41 (D) 3#4%]1

(E) 3l <A1 =med

gfhe TRE® H feEw 9§ TUE &
Fag-or-aria § uiefda fer mr iR a8
FICTOTT TST e o 71T 2
(A) 1956 (B) 1976
(B) SO &1 =med

(C) 1966 (D) 1986
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70. A farmer looks out into his farm and sees both|70. T fore 370w @ | S@ar @ AR qRRAT 377 = I

chickens and cows. He counts a total of 30 heads
and 74 legs. Assuming every animal has exactly
one head, how many chickens does the farmer
have ?

(A) 18 (B) 15
(E) Not attempted

©23 (D)7

71. If triangle represents Men, rectangle represents|71.

Businessmen and circle represents Millionaires,
then which number represents Men that are both
Businessmen and Millionaires ?

(A) 12 B) 11
(E) Not attempted

(©)10 (D) 13

El%?i
x
[

72. A piece of paper is folded and then holes are|72.

punched in it, as shown in the Question Figures.
From the given Answer Figures, indicate how it
will appear when opened.

Question Figures :

/AN

AN
Answer Figures :
(A) : (B)
© D) |

(E) Not attempted

3T 2 | I8 et 30 R AR 74 U AT @ | 7@ A
BT o BT SIHeR 1 T &1 & 2, fopam o are forert

AT g 2
(A) 18  (B)15 (©)23 (D)7
(B) SO <1 =med

T TSt et 2l STiell &, AT ST 6l a¥iiar
2 ofi 99 Fgufd I qwiidr 2, AT HH-E TEAT
T i G & S A S FUSafT a1 8 2

(A) 12 (B) 11
(E) SRl &7 =med

(©) 10

EE
i

ST o Teh e i HIST ST 8 7R ot 38 w2 fohg

ST €, S foh g et # e e @ | & e

I ATHGT & FATS foF @i W g e faar
am|

(D) 13

9T TRl :
NI IPN

I ATHAT :

(A) (B)

© (D)

(E) ST & &1 =med

B A9 N
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73.  Which one of the following is not associated with | 73.

Harappan culture ?
(A) Bricks and Beads
(B) Great Bath

(C) Drainage system
(D) Iron tools

(E) Not attempted

E'%EE
b3
[l

74. Which country assumed the BRICS presidency in | 74.

2025 following Russia ?
(A) India

(B) South Africa

(C) China

(D) Brazil

(E) Not attempted

75. Consider the following statements about the|75.

Comptroller and Auditor General (CAG) of

India :

I.  The CAG is appointed by the President of

India.

II. The CAG can be removed by the Prime
Minister.

III. The CAG audits the accounts of both the
Union and State governments.

IV. The CAG submits audit reports directly to
the Finance Minister.

Which of the above statements are true ?

(A) I, Il and IV only

(B) I and IV only

(C) TandII only

(D) Iand III only

(E) Not attempted

GET IT ON
Google Play

frafafed & & wH-o1 g gehfa @ gefta 72
N

(A) 3¢ AR ATHR

(B) fortmet =T

(C) Stor-frepreft sraen

(D) e % TR

(B) I 1 9med

&Y % 91 2025 | fora i eTeeran foh a7 3 7@0r

T 2

(A) YRa

(B) afequr 3Tshieht

(C) ==

(D) SITstet

(E) 3T o1 9med

&

qRd & e vd veerar wliesd (CAG) & s |

ffafaa wert w faem fifse

I CAG i T 9Rd & Tgafa gRT i St
g

. CAG %! &I Hff gRT 2 ST Tehal € |

II. CAG g 3R TSI THAT IHT o i@l i
TAGTINET LT 2 |

IV. CAG wraradier Rurd e fore sl sht s
FIATE |

ST H A HH-H A A S 2

(A) Fae I, 111 3R IV

(B) Faet 11 IRV

(C) Haet [ 31T

(D) Faet 1 3T 11T

(E) 3 &l a1 =Imed
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76.

77.

78.

79.

80.

= |V

Fill in the blank : 81.

They were finally able to after a
long disagreement.

(A) burn the bridge

(B) spill the beans

(C) bury the axe

(D) bite the bullet

(E) Not attempted

What is the synonym of “Ancient” ?

(A) Current 82.

(B) Future

(C) Recent

(D) O1d

(E) Not attempted

Which of the following options gives the
grammatically correct sentence ?

(A) The report comprises five sections.

(B) The report is comprised of five sections.

(C) The report comprises of five sections.

(D) The report had comprised five sections.

(E) Not attempted

In which sequence should the following parts be
arranged to form a proper sentence ?

the station/ reached/ before noon/ they
D (ID) (II1) (IV)
(A) IV, 1L 1, 1II
B) L IL 1V, I
(©) IV, L 11, 111 El%g
D) IL 1V, 1, 11 =

(E) Not attempted

Fill in the blank :

It is essential that she
meeting tomorrow.
(A) were

(B) was

(C) be

D) is

(E) Not attempted

83.

84.

present at the | 85.

GET IT ON
Google Play

Fill in the blanks :
As the plane through the turbulence,
passengers their seatbelts tighter. The

captain’s calm voice reassured everyone.
(A) flew, grabbed

(B) flew, fastened

(C) flown, hold

(D) flying, held

(E) Not attempted

What is the antonym of “Meticulous” ?

(A) Sloppy

(B) Detailed

(C) Precise EI%S
(D) Careful (B

(E) Not attempted

Which of the following describes a person who
does not believe in the existence of God ?

(A) Skeptic (B) Atheist
(C) Theist (D) Agnostic
(E) Not attempted

Identify which part of the following sentence has
an error.

Each of the boys /
@ an

his assignment /

(111

have submitted /

today.
av)

(A) I

(B) IV

O 1

D)1

(E) Not attempted

Fill in the blank :

By the time we got there, the train
(A) had left

(B) has left

(C) left

(D) leaves

(E) Not attempted
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86.

87.

88.
89.

90.

91.

92.
93.

94.

eY

faw e fershedt & afgd S 1 SaET AR R
(A) GHEIET (B) @M (C) q@R (D) Jfedm
(E) I 2 &1 =med

freferfaa & & deqey T o ae oE 7E 2 -
(A) SATHAH, FHIR, To5AAT

(B) SFH=L, THEN, shid e

(C) T, TTE, STeThel Q%g

(D) SA-URY, STHIG, BT~ B

(E) ST S &1 =med

freaferfiaa o & forerenT S=amor worm Tl 78 8 2
(A)2 (B) ® (9K} D) ¥
(B) TR &l o1 =med

[, I8 T T HIT
(A) 35599 (B) 9™ (C) Y
(E) 3 & <1 =med

afe a8 aRem FaT dt ST A% 2T |” I 8
ERIETE
(A) TP Hfersrg
(C) TqeqHs 9d

NN NS

(B) TR &l o1 =med

“gfersT uTH afth AT T g e
(A) STeugfafsd (B) Tsu9fds
(C) SASEHfrsT (D) |FrTa
(E) SR T 1 =med
I9eRt I R TE T
(A)Jd  (B) deft
(E) 30X & 1 =medt
Tt & ot A qor & | b o STl E
(A) 9% (B) 3T (C) IWHT (D) THh
(E) 3T & 1 =medt

T =l T84T < ST TSl H Jeeier §

(A) | UgsTer (B) farsmeor qeser
(C) foram wesier (D) T vEEY
(E) ST A 1 =1

(D) IR

(B) 10 ¥t
(D) 3Tl S

(C) 3< (D) 3=

95.

96.

97.

98.

99.

100.
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ITIST 31ee T Af-foeae &

(A) a1 + 390 (B) AT+
(C) A + 31 (D) a1 + &1
(B) 3T 7 o1 =med

e g O a1 ar # e |7 ST TR S
(A) faremreds g (B) Hahardeh aTe
() e Nus a™@ (D) Geredes I
(E) 3T 2 &1 =med

T forereRT wataaT= & 2
(A)ZFh  (B)TT  (C) JFdm
(B) 3T 2 o1 =med

frfafaa @ @ smmmEr 2
A)TLd (B)%E (O AFA
(E) TR &l o1 =med
ettt et w fomm ifste
I 59 a0 29 o us ey g, su
T ST FE ¢ |
. TS99 99 § T Yo 9T q Ueh 41 Ueh
T SAfereh STfra Suarer 2, 38 firsr AR sheat
g
T aerr o &1 A1 31§ 2Afereh wremr e A
ST IR forelt HaaisTer 31ed & S &, 39
TR TR e ¢ |
TH YA ST YU SUATER AT AT
AT % GHF AR AT ', 39
TR0 ST FEd & | _
S e A T 2
(A)LILIUISARIV  (B) IL I AR IV
(C) I, I 3R IV (D) I, 11 R 111
(B) 3T 2 <1 =med

(D) =T

(D) 31', 3:

III.

IVv.

T I oA TR
(A (B) §&H
(E) ST &1 =fred

(C) 7R (D) =ad
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Candidate must bring legibly printed Admit Card with recent
coloured self-attested photo pasted on it at mark B and one identity
proof with photo viz. Driving License, Voter Card, Aadhar Card,
Passport etc. at the Examination Centre, failing which candidate will
not be allowed to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father’s Name,
Mother’s Name, Exam Centre Code, Date of Examination, Session,
Roll Number, Question Booklet Number. The candidate
himself/herself will be solely responsible for all the consequences
arising out of any error or omission in writing these details.
Candidate shall put his/her LTI (Male) and RTI (Female) on
attendance sheet, on the OMR Answer Sheet and on the Biometric
Machine along with signature.

. Candidates are warned not to fold or make any stray marks on

the OMR Answer Sheet. After filling the OMR Answer Sheet,
use of Eraser, Nail, Blade, White fluid/Whitener etc., to smudge,
scratch or damage on the OMR Answer Sheet during
Examination in any manner is strictly prohibited. Candidature
and OMR Answer Sheet of candidates using Eraser, Blade, Nail
or White fluids/Whitener to smudge, scratch or damage in any
manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile phone,
any type of watch, belt, electronic or communication device, Pen,
Pencil, Eraser, Sharpener and Correcting Fluid, wear ornaments like
ring, chain, earring etc. in the examination centre. If any candidate
is found possessing any such item, he/she will not be allowed to
enter in the examination centre. Possession of mobile phone or any
other aiding material as mentioned above inside the examination
room will be treated as a serious violation and it will amount to
cancellation of the candidature and debarring him/her from future
examinations.

Candidate’s request to change the examination centre and seat in the
Examination Hall shall not be entertained.

. The scanned photograph of the candidate on his/her Admit Card or

attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in
the identification and verification of the candidate and photographs,
the candidate shall not be allowed to sit in the examination and be
liable for criminal prosecution.

Candidates have to fill one option compulsorily out of five options
given, with only Blue/Black Ball Pen provided by the
Commission. Pencil should not be used for darkening the circle.
No candidate shall be allowed to go to the toilet/washroom during
the first and last thirty minutes of the examination. No candidate
shall be allowed to leave the examination centre before completion
of the examination.

No candidate will be allowed to leave the OMR Answer Sheet
blank. If any OMR Answer Sheet is found blank, it shall be
““Crossed’” by the invigilator with his/her signature and the
invigilator will also mention “Cancelled” on it.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR
Answer Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the
candidate from appearing in the examinations to be held in future
and can also file criminal proceedings.

. In case of any discrepancy between the English and Hindi

versions of any question, the English version will be treated as
final/authentic.
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Srearef] ohl TR UG ST T 2, 1o W g1 o 8 el T
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foran g1 2 | 38eh SAfaaa Biel ol g1 U Ui, S R
STSTET ATSHT, HagTaT YT U1, TR s, UTHuTe 371 & § g |
Teh T, T AT A 8, e srwrefi St udierr o i
FrgHfal el <t st |
AR 1 wee & St § R 3 ghfea W o R s
V. UH. IR, I Woreh O el oht 8, fOrem sht 7, WA ot A,
e e BT ahts, wierr sht fafen, e, Ut T, T ikent g
T 2 | 3 R B e B e oft s e e |
TR 3rereff T & aRoTTH <R T ok fore STt 2 | e areref
ST T BT % S 1 S At sreref st ez & sz |
SqRUfI-T T, 37U, I Tk T AR TR T
TG TR S T o gEarer oft i | |
vttt st Sraredt &t AT ® foF O aMuH. IR, S™R weres §
foreft oft werT ohT FroTr 7 Ty il T & 3 WIS | S uHLATR. |
ST U= # F© Wt fora 3R 9 3 avennq 39 frem & forg
g, ATEH, S, Hhg AT UT/ATge R STfe T JanT ar |
Toret 3770 TR & 38 erf UgerT WX Awed fver 2 | 3 aeqett
& TN § ITH UsTeh T AT, UH. AR, 3T U=Teh | &hedl UL g W, I
TR & e g T ar afa g ar arvredt v stsarteaT et
.U AR, 3T =Tk T & e e few s | |
Srefelat oht et & STt 2 foh 3 waTer, Miarse B, foret oft weR
#i T, Soe, TR A1 HA we 3, U, Yfed, S, iR |
I fora gar firer o for aeer varel wite &g 8 9 o e 3R A &
ST, =, T H T T et AT TR off SH T SAmEor ve | I
T aeqaet & A el oft srereff o wver-thex § yaw T fen
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wieTT-ehg B e 91 e g o Tie 3 aied o were 7 feret off |
arvreff <t wrelT o o = femam s |
T ITeR ST SerRT-U AT Ity e & atvreff o w5 foRT gu e I
o1 forar erereff @ foram St | erereff ofiv SHeh BIdT & Heara
ST = O fopeft oft wepm <t foremier ar Sty o arereff iy adven |
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[
areeff grr forel I9 & St & &9 ¥ fou Tu gt fashedt § @ wh I
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